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PV=A1+i™
PV = 450000(1,06)7

PV =299250
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C,-C,=250(4kii 0.25)
i1:2i2(m‘. 0.25)

(250+ C,)0.06(8/12) =2(C,(0.05) (6/12))
(250+ C,)0.04 =2(C,(0.025)
10+0.04 C,=0.05C, (&kx0.5)
C,= 1000(4ksi 0.5)
C,=1250(4kii (.5)

i;= 1250(0.06) (8/12)
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i,= 1000(0.05) (6/12)
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Log 12200(1.05) "=log 14200(1.04) "

Log 12200+ n log 1.05 = Log 14200+ n log 1.04
nlog 1.05—-nlog 1.04 = log 14200 — log 12200
n (0.0211) - n (0.0170) = 4.1522 — 4.0863

0.0041 n = 0.0659
n= 0.0659/0.00415596
n=16.07~ 16(4kii 01)

n- p+1
a=A  (1+i)

p
a= A, (1+1y*!

201786.97-179589.68(1 +i)’
(1+1)°= 201786.97/179589.68

(1+i)°-1.123600

(1+)=v1.123600

I- 1-1.06

I=6%

1-(1+1)-
VO: a%
1-(1+0.06)-5

Vo= 201786.97 0,06

V= 850000
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l1=vp* i

I,= 850000%0.06
1,=51000

a=I+A;

A=a-1

A= 201786.97-51000
A;=150786.97

V1= V- A;

V1= 699213,03
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V4= As
V4= 190365.06
1=V, xI
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